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4 |ERE 2.8E+3 2,800.0 2,800.0
5 (AR
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7 |fRBE 1.8E+3 1,810.0 1,810.0
8 [ZWE 1.3E+1 13.0 13.0
9 |HAE 9.4E+2 940.0 940.0
10 |HBER

REEET! 3.8E+1 38.0 38.0
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19 [ILEE

20 |RHE

21 |IgEE 3.1E+2 305.0 305.0
22 |E&mER 1.8E+2 175.0 175.0
23 |EBHR 8.7E+2 866.0 866.0
24 |=ZER 5.2E+3 5,194.5 5,194.5
25 |#HER 1.5E+3 1,500.0 1,500.0
26 |FARRT

27 | KBRAF 8.3E+1 83.0 83.0
28 |EER 1.4E+2 135.0 135.0
29 |ZRER

30 |FIFRLE 1.0E-1 0.1 0.1
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33 |EWLE 1.7E+0 1.7 1.4E+3 1,360.0 1,361.7
34 |LER

35 |ILOg 1.7E+3 1,660.0 1,660.0
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38 |BER 41E+2 410.0 1.7E+4 17,000.0 17,4100
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40 |fERR 9.8E+2 980.0 980.0
41 [EER

2 |RIBER
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